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In the previous class we started the discussion on the different financial ratio analysis for the
business units who are seeking the loans from the commercial banks. And commercial banks
basically use the balance sheet and the income statements or profit loss account of the respective
business units to evaluate their financial conditions. And accordingly they can decide that

whether the loan should be given to those organizations or not.

So in this context we have discuss certain issues like your liquidity ratio, then you have also
discussed about the efficiency ratios and as well as the marketability of that particular business,
what this particular business unit is doing. And after that today we will be discussing about
certain other financial issues which are also used to evaluate that particular commercial units

who are seeking this particular type of loans.
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» Profitability Indicators
» Financial Leverage Factor
» Historical analysis of all financial ratios

So those ratios basically includes the profitability indicators or the profitability ratios who are the
major ratios to understand that whether this particular organization is doing financial well in the

system or not. Then we have the financial leverage factor or leverage ratios and financial



leverage is quite important in the context because that measure the financial risk of the company.
Or what is the probability that the particular bank is able to repay the loan or not, then what is the
debt position of that particular bank; all those things are basically measured through the financial

leverage ratio.

So we will be discussing more about the financial leverage factor. Then we take one example
which gives you the idea that how basically the ratios are used to understand the financial
position of the particular business units or the particular firm. And how the commercial banks are

going to use that particular indicators or particular ratios to disburse the loans.
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Financial Ratio Analysis: Profitability Indicator

*  How much net income remains for the owners of a business firm
after all expenses (except dividends) are charged against
revenue?

*  Popular bottom line indicators include:
i. Before-tax net income / total assets, net worth, or total sales
ii. After-tax net income / total assets (or ROA)

iii. After-tax net income / net worth (or ROE)

iv. After-tax net income / total sales (or ROS) or profit margin
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So let us start the discussion on the financial ratio. So whenever you talk about the profitability
indicators, the profitability indicators is nothing but that, already all of you know that the
particular organization gets an amount of profit after the cost what they are wearing for their
particular business. Then after that what basically happens that they have to pay certain interest

in all these things whatever loans they have taken.

Then as well as also they pay the tax and the remaining amount of money which is kept
particularly the net income after-tax that is basically is nothing but the money which is available

to the common shareholders. So that is the profit maximum net profit for this particular



commercial bank, a particular business unit is able to generate. So in that context here whenever

in general sense we are going to use the different profitability indicators.

Where in profitability indicators basically can be related to equity, it can be related to the assets
or it can be also related to the sales. So in this depending upon the stakeholder who are going to
use that particular financial ratio or the profitability ratio, the ratios are basically used to evaluate
the financial condition of that particular business firm. So in this context if you see the first one
is basically what we can say that whenever we are measuring that net income after-tax divide by

the total assets.

So that is basically popularly known as the return on assets that how this particular assets are
utilized to generate that particular amount of profit. And that shows that how this particular bank,
it is a very particular measure in terms of the profitability, so the return on assets is used mostly
to understand that how much profit this particular company or particular firm is able to generate

by utilizing those assets whatever they have.

Those assets may be include the fix assets and as well as the financial assets. So the financial
assets includes the debt and equity and the fixed assets are basically lands, machinery and all
kinds of other fixed assets for which the particular company is holding. Then we have another
ratio which is net income after-tax upon the net worth. The net worth is basically nothing but the

total assets minus total liabilities which is nothing but the owner’s equity.

So, whatever the owner’s equity is there that how much return on equity this particular company
is able to generate that basically is another profitability ratio which is mostly used by the
investors to understand that, what the position of that particular business unit in the financial
system is. So whether this particular company is worthy for investing or not. So those things

basically is always we check on the basis of the return on equity.

Then we have another ratio which is called profit margin which is always scaled by the total
sales because sales is the source of revenue for any business units, so after-tax net income upon
total sales that is basically is consider as the profit margin or the sales margin. So in this context

we have 3 major performance indicators in terms of the profitability what the commercial banks



always try to use whenever they go to evaluate the financial positions of the any kind of business

firm.

Then depending upon this they decide whether this particular firm credit worthiness is there,
whether the firm is able to generate the required amount of cash flow in the future. If, or what is
the probability of default we can generate out of the loans which are disbursed to this particular
companies. So all those kind of analysis can be done if the profitability analysis of that particular

firm can be carried out.
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Financial Ratio Analysis: Financial Leverage Factor

*  Itis the barometer of a business firm’s capital structure

* Any lender is concerned about how much debt a borrower has
taken on in addition to the loan being sought

*  Financial leverage: use of debt in the hope the borrower will
generate earnings that exceeds the cost of debt, thereby
increasing returns to a business firm’s owners
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Then we are coming back to the financial leverage factor, all of you know that the leverage is
very important issue for the commercial banking prospective. Whenever they go to evaluate the
business units that whenever the banks basically evaluate the credit worthiness or the repayment
capacity of a particular firm, they always look at how much existing debt the particular company

has already.

So already all of you know that the debt is basically an indicator which gives that idea that
whether the company is worthy enough or company is good enough to repay the loan or not. It
gives certain kind of signal to the market sometimes from the investment point of view,

sometimes the high leverage ratio companies are bad, sometimes also it is considered as good.



Then when it is considered as bad in the sense that already the company is exposed to more

financial risk and because the debt has a component which is related to bankruptcy cost.

And if the bankruptcy cost is increasing then there is a probability of liquidation in the future.
But otherwise the high leverage ratio can be used as a good indicator from the investment
prospective, the reason is that if the bank is able to or bank is ready to pay the loan to that
particular business unit then that means that this investor has always feels that because the bank
is providing the loan to them that means the financial condition of that particular unit is relatively

higher.

So in this context there is debate that whether the leverage is good or bad and there are many
theories which talks about the relationship between the leverage and the total value of the firm.
And how the leverage is going to affect the value of the equity holders or the shareholders, so
whether the company should maintain a particular level of leverage ratio or not. So all kinds of
debates are there as a part of the corporates finance literature, I hope all you must have heard

about this thing.

It starts with the Modigliani Miller theorem, then we have trade-off theory, you have Pecking
order theory, you have market timing theory, there are various theories which try to discuss that
whether and how the particular debt equity ratio of a particular company is designed or company
is determine. And whether the company should hold a particular level of debt equity ratio which
can maximize its value. But here whenever the basically evaluates the company the bank
basically sees that how much debt a borrower has already taken apart from the what he has asked

for.

So depending upon the other factors if the commercial bank is realizing that this particular
business unit has already existing amount of debt which is quite high. And in that context may be
it will difficult for this particular units to capture or to adjust or to repay the more loans if they
will consider or they will take in the future. So in this case what basically we say that the debt
basically is kind of risk factor what we can say that whenever the bank decide this that whether

the loan should be given on the basis of the debt or not.



So here the use of the debt in the hope that the borrower will generate the earnings that exceed
the cost of debt and thereby increasing returns to business firm’s owners. So that means
whenever they get this particular loans from the banks the bank always try to look at how this
particular loans or particular debt is going to be utilized by the commercial by the business units.
So the business units are able to generate more return out of the cost what they are enquiring
against that particular debt then it will be easier for them to repay the loan in an appropriate time

or the stipulated time.

But sometimes what happens that either because of the lack of opportunity in the market or
because of any decisions which is taken by the managers is faulty. Sometimes the return
generation from that use of the particular debt is relatively lesser than the cost what they are
enquiring. In that particular point of time may be the particular business firms are not able to
repay that particular loan in a proper scheduled time period. And automatically that becomes a

problem or becomes a hassle for the commercials banks to recover the loan from them.

So in this context a historical through analysis is required to understand how that particular debt
is going to be utilized. So if you remember that whenever any kind of business units of the
potential to invest in the market and let there are two projects are available, one project is highly
risky and another project is less risky. And as you know that the risk return trade-off concept that
if the risk is more than probability of return will be also higher. But in that context let there is a

high risk but the probability of return also higher but there is probability that the return may be 0.

In other case there is pure chance of 100 percent probability is there, you can generate certain
amount of return but which is not very high in comparison to the other projects. Sometimes
because of this stakeholders interest, the managers basically or equity holder’s interest what we
can say. The managers can go for a risky project, so if the project clicks it is fine, where the
return will be quite high. In that context they can repay the loan to the bank and as well as they

can also increase the value of the shareholder’s objective.

But sometimes what happens if the project fails then obviously the shareholder also incurs the
loss but the reason is that shareholders are ready to incur the loss, the reason is basically the

return is higher they can also get more return. But in the leave of days what basically we have



observed that the interest payments what the particular companies are supposed to provide to the

commercial banks that also get disturbed.

So in that particular point of time what basically happens that the risk of the commercial bank
increases or the NPA level of the commercial bank increases. So keeping those things in the
mind the historical analysis of that particular business unit is very much required or always the
commercial bank carry out to understand that how this particular loans are going to be utilize,
whether the rate of return what they can generate out of this loans will be more than the cost

what basically they are incurring in terms of the payments of the interest.

So if the revenue or the benefits will be more than the cost what they are going to incur then
obviously that will be a lucrative kind of investment opportunity what this business units can
create, and by that they can fulfil the conditions of the commercial bank in terms of payment of
the loan and including principle and as well as the interest. So that is why this leverage factors

are quite important.
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Financial Ratio Analysis: Financial Leverage Factor

* Key financial ratios used to analyze any borrowing business’s Q
credit standing and use of financial leverage include /\}1 / b

_ Toual liabilities
Leverage mtio = ————— W

Total asets

Long-term debt

Capitalization ratio = —
Total long-term liabilities and net worth

] Total liabilities
Debt-to-sales ratio = ————
Net sales
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Then how this leverage ratios are measured that there are many ratios which are used in the
market as a proxy for the leverage ratio or the capital structure ratio. So one of them is total

liabilities to the total assets that is called the leverage ratio. We have a ratio called capitalization



ratio, which is long term debt / the total long term liabilities and the net worth. And you can also

have total liabilities upon the net sales that is called the debt to sales ratio.

But popularly if you see in most of the cases we also use the debt by, total debt by total equity
that is another ratio we can also use. Or you can also use debt / the total capital. The total capital
includes your total debt + total equity or sometimes people also use interest coverage ratio as a
proxy for the leverage but this is not quite popular in the context of the measurement of the

financial leverage ratio of a particular company.

So in this context what basically what we can say, if the leverage ratio is higher, then it is
relatively risky for the commercial banks to provide more loan further. But again you can link
those things to the market conditions. If really the market condition is good then high leverage
ratio is not bad for the company because company will have enough opportunity to utilize that
particular loan in the market to generate the adequate amount of return to repay that particular

loan.

But if the market condition is not very conducive and the investment opportunities are not that
way very much prominent in that particular time period, then it is very risky if a company is
maintaining a high leverage ratio and further they are demanding the loans then the banks may
be reluctant to provide the loan to those kind of business if already they have high leverage with

them.

So this is the way the financial leverage factor is considered whenever the loan assessment or
loan application assessment is made by the commercial banks or any lender whenever they

provide any kind of loans to them.
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Historical analysis of financial statement

Balince sheet for a Company
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Then if you see or considering all those things we can take one hypothetical example then how
this interpretation can be made. This is a hypothetical balance sheet of a particular business unit
and of a particular company. So here already you know that, how the balance sheet looks like for
a particular company. So here we have in the balance sheet case we have the assets, we have the

liabilities.

And in the asset case we have the cash, we have the investments like marketable securities, you
have the short term investments assets like accounts receivables, you have inventories, then if
you add all these things then you can get the current inventories for total current assets, cash plus
marketable securities for amounts receivable plus inventories. Then you have the long term
assets like fixed assets, then we have the, you can minus it the depreciation from this, then you

have the net fixed assets you can get it from gross fixed assets minus depreciation.

Then you have some other miscellaneous asset what the company is holding, it includes all type
of furniture, it includes all type of fixed assets but that may not be that way utilized for getting
the return but still they are considered as the asset for this particular company. Then we can
come to the liability side, in the liability side we have accounts payable, in the asset side we have

account receivables which are short term in nature.



In Indian context we call this two names Sundry debtors and Sundry creditors in the balance
sheet of a commercial bank. Then we have the notes payable, tax payable, then we have the total
current liabilities what you can calculate. Then we can have what is that long term debt, we have
the total liabilities, we have the common stock like equity, then you have paid in surplus, return

earnings and net worth. So these are all type of balance sheet items what you can consider from
this.
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Income statement
Nt sales 30 1000% 3101000% 29.01000% 32.0100.0%
Loss: Cost of goods sold 190 576% 170 S48% 160 552% 150 469%

Gross Profit 140 424% 140 452% 130 448% 170 53.1%

Less: Selling, administrative and other expenses 90 273% 9.0 29.0% 80 27.6% 110 34.4%

Less: Dopriciation expanse 30 91% 30 97% 30 103% 20 63%
Net Operating Income 20 61% 20 65% 20 69% 40 125%
Less: Interest Expense on borrowed funds 20 61% 10 32% 20 69% 20 63%
Net income before taxes 00 00% 10 32% 00 00% 20 63%
Less: Income taxes 01 03% 03 10% 01 03% 02 06%

Net income after taxes
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And using this balance sheet items if you want to analyze that how this particular ratios are
calculated and how to interpret those ratios. Before that we can also look at the income statement

of this particular company, net sales then you can minus your cost of good solds, then gross

profit you can calculate from this.

Then we have also exclude the selling administrative and other expenses from this. You can also
deduct the depreciation expenses, you can get the net operating income after this. Then you can
also exclude this net expenses on borrowed funds because interest payments you have to make.

Then finally you can find out the net income before the taxes, in this case it is 0 in 1 year.
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Historical analysis of financial statement

Balance sheet for » Company

Most recent year One your ago

Twoyearsago  Theee years ago
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So I wanted to tell one thing, that this is the data which is for 3 years analysis because always the
banks go for a historical analysis for analyzing this financial data or financial ratios. With this 3
years ago, 2 years ago, 1 year ago and this is the most recent year’s data. The 1 year ago what
was the data and 2 years ago what is the data. So if you see that 1 year ago total recent year the
total asset value is 33. But whenever it is 1 year ago it was 34, 2 year ago 35, 3 years ago 37. So

there is a clear declining in this total assets value.

So if you also observe that in terms of net worth it was 11.5 in the current year, but there is no
such trend or pattern is followed in terms of the net worth. 3 years ago it was 11, then again 2
years ago 10.9, then 1 year ago it has increased to 12.6. Then again in the recent year it has

become 11.5. So in that context we can further go for using these ratios or using these data to

find out the different ratios.
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Income statement
Net sales 330 100.0% 31.0100.0% 29.0100.0%  32.0100.0%
Loss: Cost of goods sold 190 57.6% 170 54.8% 160 552% 150 46.9%
Gross Profit 140 424% 140 452% 130 448% 170 53.1%

Less: Selling, administrative and other expenses 90 273% 90 290% 80 27.6% 110 34.4%

Loss: Dopriciation expense 30 91% 30 97% 30 103% 20 63%
Net Operating Income 20 61% 20 65% 20 69% 40 125%
Less: Interest Expense on borrowed funds 20 61% 10 32% 20 69% 20 63%
Net income before taxes 00 00% 10 32% 00 00% 20 63%
Less: Income taxes 01 03% 03 10% 01 03% 02 06%

Net income after taxes 01 03%
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Then you have income statement like this but here in this case if you see in the current year the
net income after-tax is minus that means it is negative and here 1 year ago it was 0.7 it was
positive, 2 years it was negative, then 3 years ago it was relatively higher that is 1.8. So this is
the way the financial statement or the income statement of financial, balance sheet and the
income statements are shown, then we can now see that how those particular ratios are calculated

from this particular data and how to interpret those particular ratios.
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Historical Analysis of Financial Statement: Expense Control

Cost of goods sold/net sales 57.6% 54.8% 55.2% 46.9%
Selling, administrative and other expenses/ net sales 213% 290% 27.6% 4%
Depriciation expenses/net sales 9.1% 9.7% 10.3% 6.3%
Interest expense on borrowed funds/net sales 6.1% 32% 6.9% 63%
Taxes/net sales 0.3% 1.0% 0.3% 0.6%

Selling, administrative and other expenses, and taxes relative to net sales have declined; rest have
either remained steady or risen as a percentage of net sales

The inability to reduce the overall expense in the face of a relatively flat sales has caused net
earnings to decline over the past four years

Highly convincing arguments are needed to convince that the firm’s expense and earning picture will
improve

L e BN A SRR

So first of all, if you remember in the previous class we discussed about the expense control, and
expense control is basically nothing but that is measured through the cost of good solds upon the
net sales. The selling administrative and other expenses, depreciation expenses to net sales,
interest, expenses on upon net sales and taxes upon net sales. These are the ratios which are used

to evaluate that how the particular bank is able to control their expenses.

So if you observe that overall from this particular data analysis if you want to interpret this
particular data what basically summary you can get it that selling and administrative and other
expenses and taxes relative to net sales of decline and rest of either remains steady or risen over

as a percentage of the net sales over the time.

So what it basically implies in this case? It implies that in case of this particular banks the
inability to reduce the overall expenses in the face of a relatively flat sales because sales figure is
not that way very much fluctuating has caused the net earnings to decline over the past 4 years.
So because the sales is not increasing but the overall expenses that is why it is very difficult to
reduce by this particular business unit, because they are not able to increase their sales income in

a larger extent.

So because if you see that your flat sales is the one of the reasons that why they are not able to
control their expenses because the expenses more or less is always, we can expense control is

always related to the ratio with respect to the sales. Then here the question is that, the firm’s



expense and earning picture may improve but the question is that looking at this figure that more
or less this particular company is not able to control the expenses in that sense and either they are

not able to control their expenses nor they are able to increase the sales.

So then it becomes a question mark for the commercial bank whether the loan should be paid to

them or not or if it will be paid then how the pricing of this loan will be made.
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Historical Analysis of Financial Statement: Operating Efficiency

Inventory turnover ratio: Annual cost of

goods and services sold/average inventory  3.06 3.09 3.64 455
Average collection period: Accounts

receivable /(annual sales/360) in days 101.5 975 894 574
Turnover of fixed assets:

Net sales/net fixed assets 355 2.82 215 185
Turnover of total assets:

Net sales/total assets 1,00 091 083 0.86

Inventory t indicator of efficiency in ¢ lling size of firms inventory -

has declining trend
Average collection period is increasing; suggests rise in past due accounts and poor collection

Although fixed asset turnover is rising, (refer B/S) primary reason is decline of plant and
equipment - firm either selling assets to raise cash or simply not replacing worn out capital
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Then the next ratio we have the operating efficiency which is very important in terms of the
financial ratio analysis for any kind of business units. So if you look at this, we have the
inventory turnover ratio, we have the average collection period, we have the turnover of the fixed
assets in terms of net sales upon net fixed asset, turnover of total asset if you see the net sales

upon the total assets.

So these are net sales upon total assets, net sales upon net fixed assets, then you have the
collection period, then you have the inventory turnover ratio. So these are the major ratios which
are used to measure the operating efficiency of that particular firm. So looking at this particular
analysis which was given we will find that, the inventory turnover indicator of the efficiency
ratio in controlling the size of the firms inventory has declining trend, because 4.55 to it has

declined to 3.06.



Then the average collection period is increasing, suggest that in the past, rise in the past due
accounts and poor collection the bank is not efficient enough to collect this receivable so
whatever they have. Because the average collection period is increasing for them. That means
this particular banks short term financial position is not that way very good. Then the fixed asset
turnover is also rising if you see that the primary reason is the decline of the plant and equipment

from either selling the assets to raise the cash or simply not replacing the worn out the capital.

Because the capitals whenever you talk about the fixed asset turnover, the fixed asset turnover is
basically nothing but how this particular assets are utilized to generate this income sales income
for this particular company. But whenever we are talking about this, you have seen that the net
fixed asset turnover is rising, the net fixed turnover is rising in the sense either what we can say

that the net sales is increasing or the net fixed asset is declining.

But we have seen that the net sales is not increasing, net sales is more or less flat and here the
fixed assets whatever we have that may be declining. Then why basically that means it is not a
good sign that we are reducing our fixed assets and more or less the net sales is basically remain

constant. So here in this case what basically we can conclude why the fixed assets are declining?

The fixed assets are declining either this particular company has sold those particular assets to
generate certain kind of cash to fulfil the certain kind of short term requirements or there are
some kind of asset which is already not in the working condition and the particular companies

not utilized those assets for production or may be generating the revenue.

So in that context it is very much worrisome matter that the particular amount, if the numerator is
increasing that is fine that means sales is increasing. But in this case what we have observed in
the previous case are the data, what the data shows there more or less this total sales income of
the company is flat among the 4 years. It only varies from 37 to 33. So in that context what
basically we can conclude that the efficient, the operating efficiency of the companies is not
good enough to conclude that the efficiency of the company in terms of the financial positions

are quite strong.
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Historical Analysis of Financial Statement: Marketability of Product Line

Most recent year One year ago Two years ago Three years ago
Gross Profit Margin 42.4% 45.2% 44.8% 53.1%
Net Profit Margin -0.3% 2.3% -0.4% 5.8%

Both Gross profit margin and net profit margin are on a
downward trend

+ There might be potential problems, including potentially
inappropriate pricing policies, expense control problems, and
market deterioration
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Then we have the marketability of the product line which is measured through the gross profit
margin and the net profit margin. The gross profit margin and the net profit margin are on a
downward trend which is also not good for the company. So there might be potential problems
including the potentially inappropriate pricing policies, the expense control problems and market
deterioration. So either of these factors are responsible for this but again the lending institution
should look at this things in a very serious way to that whether the marketability to the product

line is in the good shape for that particular business unit or not.
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Coverage Ratio Analysis

Interest coverage is weak
Its earnings are barely adequate to cover the interest payments, and once
repayment of principal is included, earnings are simply inadequate to
cover interest and principal payments

+  Firm must use less debt to finance itself and boost its earnings

+  Lengthen its repayment through restructuring, so that current debt

service payments are reduced

'
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The coverage ratio whenever the interest payments of or the total net income after-tax divide by
the interest payments whenever we have measured what we find that the interest coverage ratio
is very weak, it is not very good in this case. And this earnings are barely adequate to cover the
interest payments and once the repayment of principle is included, earnings are simply

inadequate to cover the interest and the principle payments for this particular company.

And in that particular time the firms must use the less debt to finance itself and boost its
earnings. So if still they are not able to repay the interest whatever loans they have already then it
is not advisable for this particular business units to go for more loans because again the interest
rate burden will be increasing for them, or it is not also the advisable for the lending institutions

to provide the loan to them.

It is also lengthen, it is basically your debt repayment period is increasing through the
restructuring of the loan, so that the current debts service payments are also reduced. So in that
context what basically we are trying to say that the coverage ratio or the coverage ratio
conditions or the interest coverage ratio conditions of this particular unit is also not in the good
shape. So because of that may be the lender’s point of view if you consider it is not advisable for

the lending institutions to provide the loans.
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Historical Analysis of Financial Statement: Liquidity

Liquidity

Current ratio: Current asset/current

liabilities 2.60 2.65 2,67 1.94
Acid-test: (current asset-

inventories)/current liabilities 175 1.84 1.95 143
Working capital= current asset-current

liabilities 11.70 11.20 10.20 6.10
Net liquid asset= current asset-

inventories-current liabilities 550 570 580 2.80

Firm made substantial progress in building up its liquidity two years ago: current
asset 3 times over current liabilities

Current and acid test ratios have dipped significantly in the recent year

Good thing: recent expansion of working capital of 9.7 million und its relatively
stable net liquid asset

However, large part of working capital increase is from selling off the firm’s

plant and equipment and through use of debt
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Then we can come to the liquidity, so if you look at the liquidity ratio is like your current ratio,
acid-test ratio, working capital, and the net liquid asset, all kinds of things whenever we have
considered we find that the firm made substantial progress in building up the liquidity in 2 years
ago. The current assets the 3 times over the current liabilities, current and acid-test ratios are

declined or dipped significantly in the recent year.

But another good thing is the recent expansion of working capital of 9.7 Million and it is
relatively stable, net liquid assets. However the large part of the working capital increase in form
of selling of the firm’s plant and equipment and through the use of the debt. So again that is also
a worrisome matter because the working capital financing what the particular company is doing

that is the selling of the firm’s plant and equipment.

So that is not going to give a good signal to the lender that, this particular company is really good
enough to make this particular liquidity position in a better way by that the probability of cash

crunch problem or cash crunch to that particular company is not going to happen.
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Historical Analysis of Financial Statement: Profitability
Profitability
Before tax net income/total asset 0.00% 2.94% 0.00% 5.41%

After tax net income/total asset 0.30% 2.06% 0.29% 4.86%

Before tax net income/net worth 0.00% 7.94% 0.00% %
- - 16.36
After tax net income/net worth 0.87% 5.56% 0.92% %

Long term decline in profitability
Little evidence to suggest a turn around
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Then we have the profitability just now whatever we have discussed there is a profitability
decline and there is a little evidence to suggest that this particular thing is going to be changed.
So in that context the profitability condition of this particular unit is also not good enough to
conclude that this particular company is in a good shape to get the loan further because already
this company has lot of financial difficulties and the company has to improve those financial

difficulties in terms of the efficiency, in terms of the profitability in terms of liquidity in terms of

the marketability.
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Historical Analysis of Financial Statement: Leverage

Leverage:

Leverage ratio: Total liabilities/total
asstes 65.2% 62.9% 68.9% 70.3%

Total liabilities/net worth 187 170 221 236

Capitalization ratio: Long term debt
/long term debt plus net worth 53.4% 51.2% 55.3% 53.0%

Debt-to-sales ratio:Total liabilities/net

sales 65.2% 69.0% 83.1% 81.3%
Leverage ratio has improved, with assets and net worth generally growing
faster than debt

Its mix of funding sources: debt and equity capital has been relatively
constant while total liabilities have declined relative to sales

Much of firms asset has come from sources other than debt, such as

depletion of fixed assets and a buildup on current assets like accounts

receivable and inventories
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Then we have also seen the leverage, the leverage ratio is little bit improved, it was declined
from 70 percent to 65 percent with assets and net worth generally growing faster than the debt.
That is why it is declining, because the denominator is increasing and numerator is more or less
same. So debt and equity capital has been relatively constant while liabilities have declined

relative to the sales.

And much of the assets has come from the other sources other than debt, such as the depletion of
the fixed assets just now we have seen and the buildup on current asset like accounts receivable
and the inventories. So in that context, what we have seen? The debt is not going to be changed

or the debt amount is not going to be changed or it is not changing.

But because of change in the other factors which are like total assets or total fixed assets and all,
then there is some kind of fluctuations in terms of the financial leverage. But that is also not in a
very impressive way to conclude that the stability or the financial risk of that particular company
is relatively low and because of that they are worthy enough to get the more loans from then

lenders.
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+ Major profitability indicators are ROA, ROE and Profit Margin
+ Leverage measures the financial risk of the company

+ Historical analysis of the financial ratios are very much important
to provide loan to any business units

So these are the different ratios what basically we use. So apart from the other ratios what we
have discussed in the previous session, the profitability indicators like ROA, ROE, Profit Margin
all these things we use for analyzing the profitability of the company, while assessing the loan.
The leverage measure the financial risk and that is basically measured through the debt equity

ratio, the total debt to total capital, then total liability, total assets and all these things.

And that basically shows that whether the firm is in a position to repay the loan it stipulated time
or not. And historical analysis of the financial ratios are very much important because over the
time we have to understand only current period analysis will not help, we have to analyze a
reasonably 3 to 5 years data to understand that the sustainability of that particular figure so over

the time for this business units whenever the loan assessment is made.
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+ Bank management & financial services by Rose, P. S., & Hudgins, S. C., McGraw-Hill
Education, 2008.

+ Commercial banking: The management of risk by Gup, Benton E., and Kolari, James W.,
John Wiley & Sons Incorporated, 2005.

+ Management of Banking, 6e. by MacDonald, Scott. S., & Koch, Timonthy. W, Thomson,
2007

So these are the references what you can go through further detailed analysis. Thank you.



